Pretraining Language Models (part 2)

Wel Xu

(many slides from Greg Durrett, Alan Ritter)



Administrivia

- Project 3 is released (seg2seq chatbot; can be used for MT)

» Readings —
- J+M 10, 11

» GPT-3 by Brown et al.
https://arxiv.org/abs/2005.14165



This Lecture

- BART / T5
- GPT / GPT-2 / GPT-3

- TO/Flan/PaLM (if time)



BART/T5
(encoder-decoder type of LMSs)



BERT (encoder) vs. GPT (decoder)

~ BERT: only parameters are an B D
encoder, trained with masked R
: ST Bidirectional
language modeling objective Encoder

< >

» No way to do translation or

left-to-right language AL LE
modeling tasks
- GPT: only the decoder, autoregressive LM ? ? ? ? X
> (Small-size versions) Typically used Autoregressive
for unconditioned generation tasks, Decocer
e.g. story or dialog generation <ST>2‘ é g g

Lewis et al. (2019)



BART (encoder-decoder)

» What to do for seq2seq tasks?

» Segquence-to-sequence BERT
variant: permute/.make/delete ABCDE
tokens, then predict full A A 444

sequence autoregressively

Bidirectional
Encoder

Autoregressive
Decoder

-

P

» For downstream tasks: feed >

document into both encoder + A B E «<s>A B C D
decoder, use decoder hidden
state as output

» Good results on translation, summarization tasks
Lewis et al. (October 30, 2019)



BART

» BART uses multiple de-noising LM objective:

(AC._E.) (DE.ABC.) (C.DE.AB)

Token Masking  Sentence Permutation Document Rotation

s
(A.c.e. )y (aBCc.DE.) <1 (A_.D_E.)

Token Deletion Text Infilling

Infilling is longer
spans than masking

Lewis et al. (2019)



BART

Model SQuAD 1.1 MNLI ELI5S5 XSum ConvAI2 CNN/DM
F1 Acc PPL PPL PPL PPL

BART Base

w/ Token Masking 90.4 84.1  25.05 7.08 11.73 6.10
w/ Token Deletion 90.4 84.1 24.61 6.90 11.46 5.87
w/ Text Infilling 90.8 84.0 24.26 6.61 11.05 5.83
w/ Document Rotation 717.2 753 53.69 17.14 19.87 10.59
w/ Sentence Shuffling 85.4 81.5 41.87 10.93 16.67 7.89
w/ Text Infilling + Sentence Shuffling 90.8 83.8  24.17 6.62 11.12 S5.41

> Infilling is all-around a bit better than masking or deletion

» Final system: combination of infilling and sentence permutation

Lewis et al. (2019)



BART

SQuAD 1.1 SQuAD 2.0 MNLI SST QQP OQNLI STS-B RTE MRPC ColLA
EM/F1 EM/F1 m/mm Acc Acc Acc Acc Acc Acc Mcc
BERT 84.1/90.9 79.0/81.8 86.6/- 93.2 91.3 92.3 90.0 70.4 88.0 60.6
UniLM -/- 80.5/83.4 87.0/85.9 94.5 - 92.7 - 70.9 - 61.1
XLNet 89.0/94.5 86.1/88.8 89.8/- 95.6 91.8 93.9 91.8 83.8 89.2 63.6
RoBERTa 88.9/94.6 86.5/89.4 90.2/90.2 964 92.2 04.7 92.4 86.6 90.9 68.0
BART 88.8/94.6 86.1/89.2 89.9/90.1 96.6 92.5 94.9 91.2 87.0 90.4 62.8

» Results on GLUE benchmark are not better than RoBERTa

Lewis et al. (2019)



BART

SQuAD 1.1 SQuAD 2.0 MNLI SST QQP OQNLI STS-B RTE MRPC
EM/F1 EM/F1 m/mm Acc Acc Acc Acc Acc Acc
BERT 84.1/90.9 79.0/81.8 86.6/- 93.2 91.3 92.3 90.0 70.4 88.0 60.6
UniLM -/- 80.5/83.4 87.0/85.9 94.5 - 92.7 - 70.9 - 61.1
XLNet 89.0/94.5 86.1/88.8 89.8/- 95.6 91.8 93.9 91.8 83.8 89.2 63.6
RoBERTa 88.9/94.6 86.5/89.4 90.2/90.2 964 92.2 04.7 92.4 86.6 90.9 68.0
BART 88.8/94.6 86.1/89.2 89.9/90.1 96.6 92.5 94.9 91.2 87.0 90.4 62.8

» Results on GLUE benchmark are not better than RoBERTa

Lewis et al. (2019)



ColLA

» Corpus of Linguistic Acceptability (CoLA); to test whether a model can
recognize (a) morphological anomalies, (b) syntactic anomalies, and
(c) semantic anomalies.

Label Sentence Source

* The more books I ask to whom he will give, the more he reads. Culicover and Jackendoff (1999)
v I said that my father, he was tight as a hoot-owl. Ross (1967)

v The jeweller inscribed the ring with the name. Levin (1993)

* many evidence was provided. Kim and Sells (2008)

v They can sing. Kim and Sells (2008)

v The men would have been all working. Baltin (1982)

* Who do you think that will question Seamus first? Carnie (2013)

* Usually, any lion is majestic. Dayal (1998)

v The gardener planted roses in the garden. Miller (2002)

v I wrote Blair a letter, but I tore it up before I sent it. Rappaport Hovav and Levin (2008)

(v'= acceptable, *=unacceptable)

Warstadt et al. (2020)



BART for Summarization

This 1s the first time anyone has been recorded to run a full Kenyan runner Eliud Kipchoge has run a
marathon of 42.195 kilometers (approximately 26 miles) under marathon in less than two hours.

this pursued landmark time. It was not, however, an officially

sanctioned world record, as it was not an ”open race” of the

IAAF. His time was 1 hour 59 minutes 40.2 seconds. Kipchoge

ran in Vienna, Austria. It was an event specifically designed to

help Kipchoge break the two hour barrier.

PG&E stated it scheduled the blackouts 1n response to forecasts Power has been turned off to millions of
for high winds amid dry conditions. The aim is to reduce the risk  customers 1n California as part of a power
of wildfires. Nearly 800 thousand customers were scheduled to  shutoff plan.

be affected by the shutoffs which were expected to last through

at least midday tomorrow.

> But, strong results on dialogue, summarization, and other generation tasks.

Lewis et al. (2019)



15

» Frame many problems as sequence-to-sequence ones:

[”translate English to German: That is good.”

e w
"cola sentence: The Fae sa gut.”]

course is jumping well.”
q y

e ~ "not acceptable"]
"stsb sentencel: The rhino grazed

on the grass. sentence2: A rhino
is grazing in a field." "3'8"<]
\. J
( \ ( 1 ° . . \
"summarize: state authorities six people hospitalized af}er
dispatched emergency crews tuesday to @ storm in attala county. )

survey the damage after an onslaught
of severe weather in mississippi.."

\_ .

Raffel et al. (2020)



15

> Pre-training: similar denoising scheme to BART

Original text

Thank you fet inviting me to your party last week.

- e

Thank you <X> me to your party <Y> week.

Targets
<X> for inviting <Y> last <7>

- Different mask tokens for individual masked spans; also different
format for targets

Raffel et al. (2020)



15

» Compared several different unsupervised LM objectives:

Objective Inputs Targets

Prefix language modeling Thank you for inviting me to your party last week .

BERT-style Devlin et al. (2018) Thank you <M> <M> me to your party apple week . (original text)

Deshuffling party me for your to . last fun you inviting week Thank (original text)

MASS-style Song et al. (2019) Thank you <M> <M> me to your party <M> week . (original text)

I.i.d. noise, replace spans Thank you <X> me to your party <Y> week . <X> for inviting <Y> last <Z>

I.i.d. noise, drop tokens Thank you me to your party week . for inviting last

Random spans Thank you <X> to <Y> week . <X> for inviting me <Y> your party last <Z>

Raffel et al. (2020)



15

Number of tokens Repeats GLUE CNNDM SQuAD SGLUE EnDe EnFr EnRo
% Full dataset 0 83.28 19.24 80.88 71.36 26.98 39.82 27.65
229 64 82.87 19.19 80.97 72.03 26.83 39.74 27.63
227 256 82.62 19.20 79.78 69.97 27.02 39.71 27.33
229 1,024 79.55 18.57 76.27 64.76 26.38  39.56  26.80
223 4,096 76.34 18.33 70.92 59.29 26.37 38.84  25.81

» Colossal Cleaned Common Crawl (C4): 750 GB of text

» We still haven't hit the limit of bigger data being useful for pre-
training: here we see stronger MT results from the biggest data

Raffel et al. (2020)



GPT/GPT2



OpenAl GPT/GPT?2

» “ELMo with transformers” (works better than ELMo)
» Train a single unidirectional transformer LM on long contexts

- Masked self-attention: each token can only attend to past tokens

orders

—

[Masked Self-Attention

llll

<S> robot must obey

Radford et al. (2019)



OpenAl GPT/GPT?2

» GPT2: trained on 40GB of text

. Parameters Lavers d
collected from upvoted links J model

from reddit IT/M 12 768

345M 24 1024

- 1.5B parameters — the largest 762M 36 1280

of these models trained as of 1542M 48 1600
March 2019

» Because it's a language model, we can generate from it

Radford et al. (2019)



SYSTEM PROMPT
(HUMAN-WRITTEN)

MODEL COMPLETION
(MACHINE-WRITTEN,
SECOND TRY)

OpenAl GPT2

Miley Cyrus was caught shoplifting from Abercrombie and Fitch on
Hollywood Boulevard today.

The 19-year-old singer was caught on camera being escorted out of
the store by security quards.

The singer was wearing a black hoodie with the label ‘Blurred
Lines’ on the front and ‘Fashion Police’ on the back.

Scroll down for video

Shoplifting: Miley Cyrus was caught shoplifting from Abercrombie
and Fitch on Hollywood Boulevard today (pictured)

The singer was wearing a black hoodie with the label ‘Blurred
Lines’ on the front and ‘Fashion Police’ on the back

The singer was also wearing a pailr of black—-rimmed glasses, a
black jacket, black jeans and black sandals.

She was carrying a palr of black and white striped gloves and a
small black bag.

slide credit:
OpenAl




Open Questions

1) How novel is the stuff being generated? (Is it just doing nearest
neighbors on a large corpus?)

2) How do we understand and distill what is learned in this model?

3) How do we harness these priors for conditional generation tasks
(summarization, generate a report of a basketball game, etc.)

4) Is this technology dangerous? (OpenAl pursued a “staged release”)



Ethical Considerations



Grover

» Sample from a large language model conditioned on a domain, date,
authors, and headline

Context jomain date _— authors headline Target body
New research from the University of California,
a) { wired.com }—V[ May 29, 2019 } [ } N\‘Z‘(Izcl:{i;zzag;llllssehf‘i:tsistr};at ]—> Davis, finds that childhood vaccinations ]

themselves can cause autism in some kids. ..

domain date headline body authors

New research from the
b ) wired.com May 29, 2019 New Research ShOWS. — University of California, Davis, Justin Furillo
Vaccines Cause Autism finds that childhood. ...
domain date authors body headline

University of California, Davis, o .
m}ﬁflls ¥h(;t Cl?ﬂldﬁggg “fms Your Child's Future Than You Realized

c) { wired.com }-»{ May 29, 2019 }-»{ Justin Furillo }-»

Figure 2: A diagram of three GRovER examples for article generation. In row a), the body 1s generated
from partial context (the authors field 1s missing). In b), the model generates the authors. In c), the
model uses the new generations to regenerate the provided headline to one that 1s more realistic.

New research from the ’ [ Vaccines Might Be a Bigger Threat to ]

» NOTE: Not a GAN, discriminator trained separately from the generator
Zellers et al. (2019)



Grover

> Humans rank Grover-generated propaganda as more realistic than
real “fake news”

= Q  SCIENCE The Nefuest York Tines SUBSCRIBE NOW m News
Link Found Between Vaccines and Autism Ve”f'catm

By Paul Waldman May 29, 2019

Those who have been vaccinated against measles have a more than
5-fold higher chance of developing autism, researchers at the
University of California San Diego School of Medicine and the
Centers for Disease Control and Prevention report today in the Fake Ngws
Journal of Epidemiology and Community Health. (continued) Generation

» Fine-tuned Grover can detect Grover propaganda easily — authors
argue for releasing it for this reason

Zellers et al. (2019)



Bias and Toxicity

- “Toxic degeneration™: systems that generate toxic stuff

GENERATION OPTIONS:
Model: | GPT-2 Toxicity: | Work Safe | Toxic
Prompt: | I'msick of all the p... Vv A Toxic generations may be triggering.
I'm sick of all the politically correct talk and crying and looking down at your pathetic self and wishing you could just

get outta Lrere arda. ..

> System trained on a big chunk of the Internet: conditioning on “SJW?,
“black” gives the system a chance of recalling bad stuff from its
training data

https://toxicdegeneration.allenai.org/



Pre-Training Cost (with Google/AWS)

- BERT: Base $500, Large (340M parameters) $7000
- Grover-MEGA (1.5B parameters): $25,000
~ XLNet (BERT variant): $30,000 — $60,000 (unclear)

~ This is for a single pre-training run...developing new pre-training
techniques may require many runs

- Fine-tuning these models can typically be done with a single GPU (but
may take 1-3 days for medium-sized datasets)

https://syncedreview.com/2019/06/27/the-staggering-cost-of-training-sota-ai-models/


https://syncedreview.com/2019/06/27/the-staggering-cost-of-training-sota-ai-models/

Pre-Training Cost (with Google/AWS)

- GPT-3: estimated to be S4~10M. This cost has a large carbon footprint

» Carbon footprint: equivalent to driving 700,000 km by car (source:
Anthropocene magazine)

» (Counterpoints: GPT-3 isn’t trained frequently, equivalent to 100
people traveling 7000 km for a conference, can use renewables)

» BERT-Base pre-training: carbon emissions roughly on the same order as a

single passenger on a flight from NY to San Francisco

Strubell et al. (2019)

https://lambdalabs.com/blog/demystifying-gpt-3/
https://www.technologyreview.com/2019/06/06/239031/training-a-single-
ai-model-can-emit-as-much-carbon-as-five-cars-in-their-lifetimes/



GPT-3



Scaling Up

» Question: what are the scaling limits of large language models?

> NVIDIA: trained 8.3B
parameter GPT model (5.6x
the size of GPT-2), showed
lower perplexity from this

» Didn’t catch on and wasn't
used for much

Validation Perplexity

22
20
18
16
14
12
10

WebText Validation Perplexity
= 345M == 775M = 2.5B = 8.3B

— AN MO <TUL O NODOOODO AN MOSTWOMNOOOOO




GPT-3 vs. GPT-2

» GPT-3 but even larger —> 175B parameter models (3640 PF-days)

> sparse factorizations of the attention matrix to reduce computing
time and memory use. context window is set to 2048 tokens.

- Data: filtered Common Crawl (410B tokens downsampled x0.44) +
WebText dataset (19B x2.9) + two Internet-based book corpora
(12Bx1.9, 55Bx0.43) + English Wiki (3B upsampled x3.4)

Brown et al. (2020)



GPT-3

» GPT-2 but even larger: 1.3B -> 175B parameter models

Model Name Nparams Tlayers @model Theads @head DBatch Size Learning Rate
GPT-3 Small 125M 12 768 12 64 0.5M 6.0 x 104
GPT-3 Medium 350M 24 1024 16 64 0.5M 3.0x 1074
GPT-3 Large 760M 24 1536 16 96 0.5M 2.5 x 1074
GPT-3 XL 1.3B 24 2048 24 128 1M 2.0 x 1074
GPT-32.7B 2.7B 32 2560 32 80 1M 1.6 x 104
GPT-3 6.7B 6.7B 32 4096 32 128 2M 1.2 x 104
GPT-3 13B 13.0B 40 5140 40 128 2M 1.0 x 10~4
GPT-3 175B or “GPT-3” 175.0B 96 12288 96 128 3.2M 0.6 x 10~4

» Trained on 570GB of Common Crawl

» 175B parameter model’s parameters alone take >400GB to store (4
bytes per param). Trained in parallel on a “high bandwidth cluster

provided by Microsoft” Brown et al. (2020)



Pre-training Cost
- Trained on Microsoft Azure, estimated to cost S4~10M (1000x BERT-large)

Total Compute Used During Training

10000

1000

100 I I I I |
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1 petaflop/s-day is equivalent to 8 V100 GPUs at full efficiency of a day
Brown et al. (2020)



Scaling Laws

>~ Each model is a different-sized LM (GPT-style)

~ With more compute, larger models get further down the loss “frontier”

- Building a bigger model (increasing compute) will decrease test loss!

Test Loss

2

L = (Cmin/2.3+108)70:950

1079

10-7 10-5 103 10-!

Compute
PF-days, non-embedding

petaflop (1020)/sf-days

10!

4.2 1

3.9

3.6

3.3

3.0

— = (D/5.4 . 1013)—0.095

R
. T T T T T T T

102 109
Dataset Size
tokens

5.6 1
4.8

4.0

3.2

2.4

— = (N/88 . 1013)—0.076

105

107 109
Parameters
non-embedding

Kaplan et al. (2020)



> This is the “normal way”

of doing learning in
models like GPT-2, BERT

GPT-3

Fine-tuning

The model is trained via repeated gradient updates using a
large corpus of example tasks.

sea otter => loutre de mer example #1
peppermint => menthe poivrée example #2
plush giraffe => girafe peluche example #N
cheese => prompt

Brown et al. (2020)



GPT-3: Few-shot Prompting

» Model is frozen and BRI
IS given a few In addition to the task description, the model sees a few
demonstrations. examples of the task. No gradient updates are performed.
Translate English to French: task description
sea otter => loutre de mer examples

peppermint => menthe poivrée
plush girafe => girafe peluche

cheese => prompt

Brown et al. (2020)



GPT-3: Few-shot Prompting

» Model is frozen and

. . Circulation revenue has increased by 5% Circulation revenue has increased by
1S 8IvVen a few in Finland. // Positive 5% in Finland. // Finance
demonstrations. Panostaja did not disclose the purchase They defeated ... in the NFC
price. // Neutral Championship Game. // Sports
Paying off the national debt will be Apple ... development of in-house
extremely painful. / Negative chips. // Tech
The company anticipated its operating The company anticipated its operating
profit to improve. // profit to improve. //

> “in-context learning” - unlike conventional machine learning in that there’s
no optimization of any parameters.

- Model “learns” by conditioning on a few examples of the task.

Brown et al. (2020)



GPT-3: Few-shot Learning

Zero-shot One-shot Few-shot

- Key observation: | | S .
few-shot learning
only works with

- 179B Params

Natural Language

60 Prompt

\
the very largest =
models! S TriviaQA
3 a0
<
20
10
. ——— _’,____:_/_x\____,__-f_:—w'—mm 1.3B Params
OO 100 _________________ 10"

Number of Examples in Context (K)

Brown et al. (2020), Schick and Schutze (2021)



TriviaQA

Context — Q: ‘Nude Descending A Staircase’ is perhaps the most famous painting by

which 20th century artist?
A:

Target Completion —  MARCEL DUCHAMP

Target Completion — r mutt

Target Completion —  duchamp

Target Completion — marcel duchamp

Target Completion — R.Mutt

Target Completion — Marcel duChamp

Target Completion — Henri-Robert-Marcel Duchamp

Target Completion — Marcel du Champ

Target Completion — henri robert marcel duchamp

Target Completion — Duchampian

Target Completion —  Duchamp

Target Completion — duchampian

Target Completion — marcel du champ

Target Completion — Marcel Duchamp

Target Completion —  MARCEL DUCHAMP

Figure G.34: Formatted dataset example for TriviaQA. TriviaQA allows for multiple valid completions.



Prompt Engineering

Yelp For the Yelp Reviews Full Star dataset We define a single verbalizer v for all patterns as
(Zhang et al., 2015), the task i1s to estimate the
rating that a customer gave to a restaurant on a 1- v(1) = terrible v(2) =bad  v(3) = okay
to 5-star scale based on their review’s text. We v(4) = good v(5) = great
define the following patterns for an input text a: x
Pi(a) = Itwas ____. a Pe(a)= Just___!|a .
— “verbalizer” of labels
P3;(a) = a. Allin all, it was ____. +«— patterns

Py(a) = a || In summary, the restaurant is ____.

Schick and Schutze et al. (2020)



GPT-3

SuperGLUE  BoolQ CB CB COPA RTE
Average Accuracy Accuracy F1  Accuracy Accuracy
Fine-tuned SOTA 39.0 91.0 96.9 93.9 94.8 92.5
Fine-tuned BERT-Large 69.0 77.4 83.6 75.7 70.6 71.7
GPT-3 Few-Shot 71.8 76.4 75.6 52.0 92.0 69.0
WiC WSC MultiRC  MultiRC ReCoRD ReCoRD
Accuracy Accuracy Accuracy Fla Accuracy F1
Fine-tuned SOTA 76.1 93.8 62.3 88.2 92.5 93.3
Fine-tuned BERT-Large 69.6 64.6 24.1 70.0 71.3 72.0
GPT-3 Few-Shot 49 .4 80.1 30.5 75.4 90.2 91.1

- Sometimes very impressive, (MultiRC, ReCoRD), sometimes very bad

» Results on other datasets are equally mixed — but still strong for a
few-shot model!

Brown et al. (2020)



MultiRC (multi-sentence

Sent 1: The hijackers attacked at 9:28.

Sent 2: While traveling 35,000 feet above eastern Ohio, United 93 suddenly dropped 700 feet.

Sent 3: Eleven seconds into the descent, the FAA’s air traffic control center in Cleveland received the first of two radio
transmissions from the aircraft.

Sent 4: During the first broadcast, the captain or first officer could be heard declaring “Mayday” amid the sounds of a
physical struggle in the cockpit.

Sent 5: The second radio transmission, 35 seconds later, indicated that the fight was continuing.

Sent 6: The captain or first officer could be heard shouting: “Hey get out of here-get out of here-get out of here.”
Sent 7: On the morning of 9/11, there were only 37 passengers on United 93-33 in addition to the 4 hijackers.

Sent 8: This was below the norm for Tuesday mornings during the summer of 2001.

Sent 9: But there is no evidence that the hijackers manipulated passenger levels or purchased additional seats to
facilitate their operation.

Sent 10: The terrorists who hijacked three other commercial flights on 9/11 operated in five-man teams.

Sent 11: They initiated their cockpit takeover within 30 minutes of takeoft.

Sent 12: On Flight 93, however, the takeover took place 46 minutes after takeoff and there were only four hijackers.

Question: Which two factors were different between the three other hijacked planes and United 93?

the day of the takeover

A) The amount of time that passed before the takeover started

B)* United 93 took longer and had less hijackers

C) The airline operating the planes

D) The weather and fuel used by the airplane

E) The navigation system used by the planes

Reasoning needed: Discourse relation (contrast)

One needs to identify that the discourse marker Zowever in Sent 12 indicates a contrast relation between Flight 93 and
the flights mentioned in Sent 10. Also, only in Sent 12 indicates that the number of hijackers were fewer than in the
contrasted other flights.

Question: What was below average for this particular day?

A) the number of passengers in the first class.

B)* the number of passengers on board.

C) the number of hijackers

D) the amount of air traffic in the skies

E) the temperature

Reasoning needed: Event coreference

One needs to identify that This in Sent 8 co-refers to (event of) number of passengers in Sent 7. Note that Sent 12
contains only four hijackers and understanding that only indicates a smaller number of entities than expected (as in
previous question), might mislead a system into believing that (C) is the correct answer.




SQUAD 2.0 (span-based QA)

» SQUAD 1.1 contains 100k+ QA pairs from 500+ Wikipedia articles.

» SQUAD 2.0 includes additional 50k questions that cannot be answered.

» These questions were crowdsourced.

Passage

Super Bowl 50 was an American football game to determine the

champion of the National Football League (NFL) for t
The American Football Conference (AFC) champion

Denver Broncos

defeated the National Football Conference (NFC) champion Carolina
Panthers 24-10 to earn their third Super Bowl title. The game was

played on February 7, 2016, at Levi's Stadium in the
Bay Area at Santa Clara, California.

San Francisco

ne 2015 season.

Question: Which NFL team won Super Bowl 507
Answer: Denver Broncos

Question: What does AFC stand for?
Answer: American Football Conference

Question: What year was Super Bowl 507
Answer: 2016

Rajpurkar et al. (2016)



Open Questions

1) How much farther can we scale these models?
2) How do we get them to work for languages other than English?

3) Which will win out: prompting or fine-tuning?



New Models from 2022



Instruction Tuning

(A) Pretrain-finetune

( )
Pretrained Finetune on Inference C) Instruction tunin
g — g | (© : w
| Instruction-tune on
Requires large dataset of Pretrained : Inference
L task-specific examples ) mBa:n&tg’sks —> ontask A
Model learns to perform Inference on
. many tasks via natural unseen task
(B) Promptlng 5 language instructions )
( Improve performance I

via few-shot prompting
Pretrained Or prompt engineering Inference
LM on task A
\ Y,

» We want to optimize models for P(answer | prompt, input), but they’re
learned on a basic language model objective.

> Instruction tuning: supervised fine-tuning on data derived from many NLP
tasks (with natural language instructions in prompts) Chung et al. (2022)



Instruction Tuning

- Early ideas from UnifiedQA (Khashabi et al. 2020) and Meta-tuning
(Zhong et al. 2021)



Unified QA

Extractive [SQuAD]

Question: At what speed did the turbine operate?

Context: (Nikola_Tesla) On his 50th birthday in 1906, Tesla demonstrated
his 200 horsepower (150 kilowatts) 16,000 rpm bladeless turbine. ...

\Gold answer: 16,000 rpm

Dataset

SQuAD 1.1

At what speed did the turbine operate? \n
(Nikola_Tesla) On his 50th birthday in 1906, Tesla

-

Abstractive [NarrativeQA]

enamored of themselves." ...
Qold answer: fall in love with themselves

Question: What does a drink from narcissus's spring cause the drinker to do?
Context: Mercury has awakened Echo, who weeps for Narcissus, and states
that a drink from Narcissus's spring causes the drinkers to "Grow dotingly

4 Multiple-Choice [ARC-challenge]

Question: What does photosynthesis produce that helps plants grow?
Candidate Answers: (A) water (B) oxygen (C) protein (D) sugar

\Gold answer: sugar

Yes/No [BoolQ]

Question: Was America the first country to have a president?

Context: (President) The first usage of the word president to denote the

highest official in a government was during the Commonwealth of England ...

Gold answer: no

EX  Input demonstrated his 200 horsepower (150 kilowatts)
16,000 rpm bladeless turbine. ...
Output 16,000 rpm
Dataset NarrativeQA
ﬂ\\\ What does a drink from narcissus's spring cause the
drinker to do? \n Mercury has awakened Echo, who
AB Input weeps for Narcissus, and states that a drink from
Narcissus's spring causes the drinkers to ~  Grow
dotingly enamored of themselves.'' ...
Output fall in love with themselves
Dataset ARC-challenge
4// I What does photosynthesis produce that helps plants
nput grow? \n (A) water (B) oxygen (C) protein (D) sugar
) Output sugar
MC Dataset MCTest
Who was Billy? \n (A) The skinny kid (B) A teacher
(C) A little kid (D) The big kid \n Billy was like a
Input king on the school yard. A king without a queen. He
// was the biggest kid in our grade, so he made all the
rules during recess. ...
Output The big kid
Dataset BoolQ
Was America the first country to have a president?
YN 1 ¢ \n (President) The first usage of the word president
DPUt  +6 denote the highest official in a government was
during the Commonwealth of England ...
Output no

Khashabi et al. (2020)



Meta-Tuning

~ Turn binary classification tasks into a “Yes"/“No" QA format

Classification Format 0 AUC-ROC Scores for Each Label Description
Hate Speech Detection '

A total waste of time. 0

0.9 1

classify

Question Categorization
Great movie, must see! 1 03
Topic Classification g

ng

-
~

‘Convert , o
Sentiment Classification

Question Answering Format

After Meta-tun
o
o

‘Meta—tune

[Question] Is the review positive? 0.5 —— improved
re L he
[Context] A fotal waste of time. 222" | “No” Stance Classification 0.4 lcﬂ;’;czeg otion
a ¢ (S ® (
- , 13 »
[Context] Great movie, must see! Yes Evaluate on Unseen Tasks 03 | | ~ ' ' '
03 04 05 06 07 08 09 10
UnifiedOA
(a) Task Conversion (b) Meta-tuning and Evaluation (c) Results

Figure 1: (a) We convert the format to question answering. We manually annotate label descriptions (questions)
ourselves (Section 2). (b) We finetune the UnifiedQA (Khashabi et al., 2020) model (with 770 M parameters) on a
diverse set of tasks (Section 4), and evaluate its O-shot classification (ZSC) performance on an unseen task. (c¢) For
each label description (question) we evaluate the AUC-ROC score for the “Yes" answer, and each dot represents a
label description (Section 3). The z-value 1s the ZSC performance of UnifiedQA; the y-value 1s the performance
after meta-tuning. In most cases, the y-value improves over the z-value (above the red line) and is better than

random guesses (above the black line) by a robust margin (Section J).
Zhong et al. (2021)



» Extended from
LM-adapted T5
model

(Lester et al. 2021)

» “Instruction Tuning” —

using existing
labeled training
datasets from
many tasks +

crowdsourced prompts

T0

Summarization

Poundland store on Whymark Avenue [...] Ho

The picture appeared on the wall of a
would you rephrase that in a few words?

W

Sentiment Analysis

Review: We came here on a Saturday night
and luckily it wasn't as packed as I
thought it would be [...] On a scale of 1
to 5, I would give this a

.

~

Y

Question Answering

f

the Panthers defeat?” is in “The Panthers
finished the regular season [...]"”. Can
\ you tell me what it is?

I know that the answer to “What team didi\

.

Multi-task training

4 )
Graffiti artist Banksy

is believed to be
behind [...]

o

.

10

Arizona Cardinals ]

Zero-shot generalization

Natural Language Inference

Suppose “The banker contacted the professors

and the athlete”. Can we infer that "The
banker contacted the professors"?

Figure 1: Our model and prompt format. TO is an encoder-decoder model that consumes textual
inputs and produces target responses. It 1s trained on a multitask mixture of NLP datasets parti-
tioned into different tasks. Each dataset is associated with multiple prompt templates that are used
to format example instances to input and target pairs. Italics indicate the inserted fields from the raw
example data. After training on a diverse mixture of tasks (top), our model is evaluated on zero-shot
generalization to tasks that are not seen during training (bottom).

Sanh et al. (2022)



Recap: I5

» Frame many problems as sequence-to-sequence ones:

[”translate English to German: That is good.”

e w
"cola sentence: The Fae sa gut.”]

course is jumping well.”
q y

e ~N "not acceptable"]
"stsb sentencel: The rhino grazed

on the grass. sentence2: A rhino
is grazing in a field." "3'8"<]
\. J
( \ ( 1 ° . . \
"summarize: state authorities six people hospitalized afEer
dispatched emergency crews tuesday to @ storm in attala county. )

survey the damage after an onslaught
of severe weather in mississippi.."

\ _J

Raffel et al. (2020)



Natural Language Prompts

» Some examples from TO paper:

QQP (Paraphrase)

L1

Questionl

Question2

Label 0

How is air traffic controlled?

How do you become an air traffic controller?

.

{Question1} {Question2}
Pick one: These questions
are duplicates or not

duplicates.

J

!

(: {Choices[label]} ]

.

I received the questions
"{Question1}" and
"{Question2}". Are they
duplicates?

J

'

(i {Choices[label]} j)

XSum (Summary)

L

Document

Summary

The picture appeared on the wall of a
Poundland store on Whymark Avenue...

Graffiti artist Banksy is believed to be
behind. ..

{Document}
How would you
rephrase that in
a few words?

\

y

( {Summary} ]

~

First, please read the article:
{Document}
Now, can you write me an
extremely short abstract for it?

( {Summary} )

v,

Sanh et al. (2022)



Task Generalization: TO

» Pre-train: T5

> Train: a collection
of tasks with
prompts. This uses
existing labelled
training data.

> Test: a new task
specified only by a
new prompt. No
training data in this
task.

e N ( N\ N N
Multiple-Choice QA Closed-Book QA Structure-To-Text Sentence Completion BIG-Bench
CommonsenseQA Hotpot QA Common Gen COPA Code Description

DREAM Wiki QA Wiki Bio HellaSwag Conceptual
QUAIL ~ 7~ ~
4 N N SIEly (G122 Hindu Knowledge
QuaRTz Sentiment Summarization N /
_ _ 4 A Known Unknowns
Social IQA Amazon CNN Daily Mail Natural Language
Inference Language ID
WIQA App Reviews Gigaword
ANLI : :
Logic Grid
Cosmos QA IMDB MultiNews CB
Logical Deduction
SRS Rotten Tomatoes SamSum RTE
QuaRel \ ) Misconceptions
Yelp XSum p N
SciQ - AN J Coreference Movie Dialog
— 4 N A Resolution
Wiki Hop Topic Classification Paraphrase Novel Concepts
L y |dentification WSC
Strategy QA
é _ ) AG News MRPC Winogrande 9y
Extractive QA N y :
DBPedia PAWS Syllogisms
Adversarial QA ( )
TREC QQP DWordb.Sen?e Vitamin C
Quoref L JAN ) iIsambiguation - :
: inow
ROPES WiC y
. J
DuoRC
N J




Flan

> Pre-train, then fine-tune on a bunch of tasks, generalize to unseen tasks
» Scaling the number of tasks, models size (Flan-T5, Flan-Palm), and fine-
tuning on chain-of-thought data

Instruction finetuning

P

Please answer the following question.

What is the boiling point of Nitrogen?
=

-320.4F

Chain-of-thought finetuning

A ;\

.

nswer the following question by f : \?\
o e The cafeteria had 23 apples \
g step-by-step. =
. | originally. They used 20 to
The cafeteria had 23 apples. If they I make lunch. So they had 23 -
used 20 for lunch and bought 6 more, ) f 2 20 = 3. They bought 6 more
how many apples do they have? Language apples, so they have 3 + 6 = 9.
\\ j// \ guag < PP y > )|
model . 4
Multi-task instruction finetuning (1.8K tasks) | - Y |
[ \ [ Geoffrey Hinton is a British-Canadian
. R / \ | computer scientist born in 1947. George
Q: Can Geoffrey Hinton have a Y Washington died in 1799. Thus, they
conversation with George Washington? / could not have had a conversation
Give the rationale before answering. ) \_ together. So the answer is “no”. )

Figure 1: We finetune various language models on 1.8K tasks phrased as instructions, and evaluate them on unseen tasks.
We finetune both with and without exemplars (i.e., zero-shot and few-shot) and with and without chain-of-thought,

enabling generalization across a range of evaluation scenarios. C h un g Et d I . ( 2 O 2 2 )



Flan

Finetuning tasks » Fine-tuned on 473
@ Y uffin Y atura D
T0-oF s Instll'\lucttionlsv2 datasets, 1836

: Natural language inference Closed-book QA
Commonsense reasoning

Oliostion cencration Code instruction gen. Conversational QA Galice effect classification
el bc?ok OA Program synthesis Code repair Commonsense reasoning t a S k S
Adiercarial OA Dialog context generation Named entity recognition .
Extractive QA \ 69 Datasets, 27 Categories, 80 Tasks j Toxic language detection
Title/context generation P ~ Question answering

Question generation

Topic classification
Struct-to-text

T(R nin :
Program execution
Arithmetic reasoning Explanation generation Text categorization > S O I I l e d a ta S et S

Commonsense Reasoning  Sentence composition
55 Datasets, 14 Categories, Implicit reasoning 372 Datasets, 108 Categories,

\ 193 Tasks / \ 9 Datasets, 1 Category, 9 Tasks / \ s e / S u p p O rt m u Iti p I e

< A Dataset is an original data source (e.g. SQUAD).
< A Task Category is unique task setup (e.g. the SQUAD dataset is configurable for multiple task categories such as k
extractive question answering, query generation, and context generation). ta S S
< A Task is a unique <dataset, task category> pair, with any number of templates which preserve the task category (e.g.
query generation on the SQUAD dataset.)

» E.g. SQUAD can be

Held-out tasks
7 N @ N 4 D 4 B d f Q A
MMLU BBH TyDIQA MGSM u S e O r O r
Abstract algebra Sociology Boolean expressions Navigate e Crade school
College medicine Philosophy Tracking shuffled objects =~ Word sorting ; . .
Professional law Dyck languages seeking QA MAHIREDlEMS q u e Stl O n ge n e ra tl O n .
57 tasks 27 tasks 8 languages 10 languages
& J/ & J yV |9 4

Chung et al. (2022)



Chain-of-Thought Prompts

- Using explanations (some rationals) to improve model performance,
usually in few-shot prompting

Instruction
without
exemplars

Instruction
with exemplars

Without chain-of-thought

Answer the following
yes/no question.

Can you write a whole
Haiku in a single tweet?

yes

N
/Q: Answer the following
yes/no question.
Could a dandelion suffer
from hepatitis?
A: no

Q: Answer the following
yes/no question.

Can you write a whole Haiku
In a single tweet?

A:

A

yes

Yy €

With chain-of-thought

Answer the following yes/no question
by reasoning step-by-step.

Can you write a whole Haiku in a
single tweet?

A haiku is a japanese
poem three-line
poem. That is short
enough to fit in 280
characters. The
answer is yes.

\

h 4

Q: Answer the following yes/no question by
reasoning step-by-step.

Could a dandelion suffer from hepatitis?

A: Hepatitis only affects organisms with livers.
Dandelions don’t have a liver. The answer is no.

Q: Answer the following yes/no question by
reasoning step-by-step.

Can you write a whole Haiku in a single tweet?
A:

A haiku is a japanese
poem three-line
poem. That is short
enough to fit in 280
characters. The
answer is yes.

4

Wei et al. (2022)

Figure from Chung et al. (2022)



Flan

> Instruction fine-tuning can be done on various models (PaLM, T5, etc.)

» Flan-T5 models publicly available

. pre-training Pretrain  Finetune % Finetune
teams Moce i Objective FLOPs FLOPs Compute
80M Flan-T5-Small encoder-decoder span corruption 1.8E4+20 2.9E+18 1.6%
250M  Flan-T5-Base encoder-decoder span corruption 6.6E+20 9.1E+18 1.4%
780M  Flan-T5-Large encoder-decoder span corruption 23E+21 24E+19 1.1%
3B Flan-T5-XL encoder-decoder span corruption 9.0E+21 5.6E+19 0.6%
11B Flan-T5-XXL encoder-decoder span corruption 33E+22 7.6E+19 0.2%
8B Flan-PaLM decoder-only causal LM 3.7E+22 1.6E+20 0.4%
62B Flan-PaLM decoder-only causal LM 29E+23 1.2E+21 0.4%
540B Flan-PaLM decoder-only causal LM 2.5E+24 5.6E+21 0.2%
62B Flan-cont-PaLM  decoder-only causal LM 48E+23 1.8E+21 0.4%
540B Flan-U-PaLM decoder-only  prefix LM + span corruption 2.5E+23 5.6E+21 0.2%

Table 2: Across several models, instruction finetuning only costs a small amount of compute relative to
pre-training. T5: Raffel et al. (2020). PaLM and cont-PaLM (also known as PalLM 62B at 1.3T tokens):

Chowdhery et al. (2022). U-PaLM: Tay et al. (2022b).

Chung et al. (2022)



PaLM

>~ 540 billion parameter model created by Google (not publicly available)

» Trained on 780 billion tokens, 6144 TPU v4 chips using Pathways to work

across multiple TPU Pods).

Performance on 58 Tasks

—e— Gopher 5-shot

80 " _e— Chinchilla 5-shot
GPT-3 0-shot
-@o-- GPT-3 1-shot
i PaLM 0-shot

i< PalM l1-snol = |- L. L. .
—<&— PalLM 5-shot
- == Human (Avg.)
-== Human (Best)

Normalized Preferred Metric (Avg.)

o<
. = :
. — @-—;"—:“’ ‘“

()
?

108 10° 1010 1011
Model Parameters (Non-Embedding)

Total dataset size = 780 billion tokens

Data source

Proportion of data

Social media conversations (multilingual) 50%
Filtered webpages (multilingual) 27%
Books (English) 13%
GitHub (code) 5%
Wikipedia (multilingual) 4%
News (English) 1%

Chowdhery et al. (2022)



PaLM

Pathways: Asynchronous Distributed Dataflow for ML

Sharded l(aslga;t):)/ Program < Datacenter Network (RDMA) > | Gang scheduling
R S S e s S ¢t Client r
- . i - un program )
o )

B 8

r'v‘ Transfer subgraph @ - —
Host (many per island) L] ——
Sk Resource Manager (global) Ac_celera'tor i
-#: Scheduler (per island) Slg:rievsa\t’gth .
[] Executor (per device) interconnects : |
IXl Collective operations N /" . Time
Model Components >

Figure 3. PATHWAYS system overview. (Left) Distributed computation expressed as a DAG where each node represents an individual
compiled function, and edges between nodes represent data flows between functions. (Middle) Resource Manager allocates subsets
of an 1sland’s accelerators (virtual slices”) for each compiled function. (Right) Centralized schedulers for each island gang-schedule
computations that are then dispatched by per-shard executors. Red arrows indicate control messages, blue arrows show data-path transfers.

Barham et al. (2022)



PaLM

(a) (b) (c)
goal _step _wikihow english_proverbs navigate
£ 80% 80% 80%
Q
2 60% 60% 60% .
D
0% 40% 40%
(C
g 20% 20% 20%
@) «@= PalLM 5-Shot
= 0% === Human (Avg.) 0% 0% .—./‘
== = Human (Best)
8b 62b 540b 8b 62b 540b 8b 62b 540b
logical args logical sequence mathematical induction

100% 100% 100%
< 80% 80% 80% == —————— -
)
2 60% 60% 60%
D
DN A0T5 s et s i 40% 40%
(©
E 20% 20% 20% /—‘
@) «@= PalLM 5-Shot
= 0% == Human (Avg.) 0% 0%

== = Human (Best)
8b 62b 540b 8b 62b 540b 8b 62b 540b
Model Scale Model Scale Model Scale

Figure 5: 5-shot evaluations on six individual tasks with interesting scaling characteristics. For each task, the
“normalized preferred metric” is used, where 0% corresponds to random guessing for multiple choice tasks. (a)
shows log-linear improvements with scale, (b) shows “discontinuous” improvements with scale, and (c) shows

relatively flat improvements with scale.
Chowdhery et al. (2022)



PALM

Explaining a Joke Logical Inference

/ Input: Did you see that Google just hired an eloquent \ / Input: Shelley is from Virginia, but is visiting that city with
whale for their TPU team? It showed them how to that famous market where they throw the fish. Going home next
communicate between two different pods! Tuesday!
Model Output: TPUs are a type of computer chip that Question: Is it likely that Shelley will be near the Pacific
Google uses for deep learning. A "pod" 1is a group of Ocean this weekend?
TPUs. A "pod" is also a group of whales. The joke 1is Model Output: The city with the famous market where they throw
that the whale is able to communicate between two the fish is Seattle, Washington. Seattle is on the Pacific
groups of whales, but the speaker is pretending that Ocean. Shelley is visiting Seattle, so she will be near the
the whale is able to communicate between two groups of Pacific Ocean this weekend. The answer is "yes", it is likely

E TPUs. ff h that Shelley will be near the Pacific Ocean this weekend.

Figure 1: These examples demonstrate exploratory capabilities in prompting PaLLM to generate explanations
using chain-of-thought prompting (Wei et al., 2022b). All examples were generated with greedy (1-best)
decoding of PaLM 540B. The prompting was done with 2-shot exemplars, which are shown in Section 9,
along with output on more examples using these same exemplars.

Chowdhery et al. (2022)



